
S2

The ratio of the sum of e and 5 to two is 7e.2)

The ratio of sum of six and nine times r to four is 16. 

3)

One-sixths of t subtracted from 27 gives 31. 4)

8 multiplied by the double of n minus eight equivalent

to nineteen. 

5)

The product of 5 and the sum of 6 times c and 8 is

equal to 51.

6)

w diminished by two-sevenths of w is equal to 32.7)

The ratio of the sum of a and 5 to eight is 6a.8)

2 times the sum of 3 and the product of 7 and v is 

equal to 60.

9)

61 added to two-thirds of d is equal to 43. 10)

3 plus four-sevenths of b gives 24. 1)

Translate each sentence into a multistep equation.
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